😙 bluehammer"

EXAMPLE REHAB ESTIMATE

All costs shown include labor, material and equipment unless otherwise stated

ENTIRE HOUSE

Floors: 1328sf Walls: 3320sf Ceilings: 1328sf Ext Walls: 1746sf Roof: 2033sf

DESCRIPTION	QTY	UOM	PPU	TOTAL
Replace Flooring - Vinyl Sheet				
Remove vinyl floor - sheet - from concrete	1328	SF	\$0.76	\$1,009.28
Prep for new floor material - scrape/clean - medium	1328	SF	\$0.56	\$743.68
Install new - vinyl floor - sheet - economy - per SF	1328	SF	\$2.24	\$2,974.72
Paint interior - entire house - includes walls and trim - standard height ceilings - 2 coats - per SF of living area	1328	SF	\$2.32	\$3,080.96
HVAC inspection	1	M/C	\$134.83	\$134.83
Replace Front Door - Single				
Remove single front door, jamb, threshold & trim	1	EA	\$36.13	\$36.13
Install new - front door including jamb - single - good	1	EA	\$847.71	\$847.71
Install new - double key deadbolt - good	1	EA	\$80.72	\$80.72
Install new - threshold - wood - 3'	1	EA	\$76.28	\$76.28
Seal/Caulk exposed gap or crack - first 25 LF - includes prep, sealant/caulking, and finishing	1	M/C	\$42.83	\$42.83
Pressure wash siding - medium	1746	SF	\$0.30	\$523.80
Paint overhangs/eaves - up to 2' - different paint than house - 2 coats	181	LF	\$2.68	\$485.08
Paint fascia to 12" wide - 2 coats	181	LF	\$2.81	\$508.61
Paint siding - 2 coats	1746	SF	\$1.15	\$2,007.90

Replace Light Fixture - Flush Mount

3/3/23, 11:57 AM	https://www.bluehammer.com//bluehammer/main#/viewreport/1608344/DbGMSITKeethTMSHT/243562					
Remove light fixture - medium			6	EA	\$6.14	\$36.84
Install new - light fixture - flusł	n mount - better		6	EA	\$180.11	\$1,080.66
Replace Electrical Switch	- Standard					
Install new - switch - does not	include wire or box - good		19	EA	\$32.33	\$614.27
Plumbing services - repair bro 5' long - does not include cutti			0	EA	\$196.99	\$0.00
Estimate						
Service call - general labor - m	inimum charge		1	M/C	\$72.28	\$72.28
Mudjacking - raise concrete sla injection - per 1" diameter hol drill - each additional hole			217	EA	\$140.78	\$30,549.26
					Area Total:	\$44,905.84
			Do It Yourself Area Total:			\$16,798.39
EXTERIOR GROUNDS						

DESCRIPTION	QTY	υом	PPU	TOTAL	
Estimate					
Service call - general labor - minimum charge	1	M/C	\$72.28	\$72.28	
		Ar	ea Total:	\$72.28	
	Do	Do It Yourself Area Total:			
		Estimate Total:		\$44,978.12	
	Do It Yoursel	f Estimate	Total: \$	16,798.39	

Copyright © 2023 Bluebook International - All Rights Reserved

https://www.bluehammer.com//bluehammer/main#/viewreport/1608344/DbGMSITKeethTMSHT/243562

applicable contract terms. All information, however derived, entered or implemented including all data contained herein, is the sole property of the Company and its third party providers. This report (including graphs, charts, and photos) is derived from the use of proprietary automated valuation technologies, modeling, public record data, other data, your inputs, and proprietary predictive technologies. Your use constitutes a license. This report and the data contained in it may not be re-sold, remarketed, syndicated, compiled, or published without prior written permission from Company. This report does NOT constitute an appraisal, contractor's estimate/bid, or similar valuation. Inputs may not include visual inspections, neighborhood characteristics, demographics, topography, disaster surge pricing, and other factors that may influence values. Company does not offer tax advice, accounting advice, or contractor estimates. You should consult with appropriate financial, legal, construction, and/or real estate professionals before acting on or utilizing the report. THIS REPORT IS AN OPINION THAT MAY BE INACCURATE AND IS PROVIDED SOLELY AS AN INFORMATIONAL TOOL NOT DESIGNED TO PROVIDE DEFINITIVE ANSWERS. ALL ELEMENTS ARE OFFERED "AS IS" AND COMPANY EXPRESSLY DISCLAIMS ANY AND ALL WARRANTIES, REPRESENTATIONS, AND GUARANTEES OF ANY NATURE, EXPRESS, IMPLIED OR OTHERWISE, INCLUDING BUT NOT LIMITED TO ANY IMPLIED WARRANTIES OF MERCHANTABLITILY, NONINFRINGEMENT, TITLE, QUIET ENJOYMENT, ACCURACY, OR FITNESS FOR A PARTICULAR PURPOSE. IN NO EVENT SHALL COMPANY (OR ITS SUPPLIERS) BE LIABLE FOR ANY GENERAL, DIRECT, SPECIAL, INCIDENTAL, INDIRECT OR CONSEQUENTIAL DAMAGES PRESENTED, (2) COSTS OF REPLACEMENT GOODS, (3) LOSS OF USE, DATA OR PROFITS, (4) DELAYS OR BUSINESS INTERRUPTIONS, (5) AND ANY THEORY OF LIABLILY, ARISING OUT OF OR IN CONNECTION WITH THE USE OR PERFORMANCE OF INFORMATION) WHETHER OR NOT COMPANY HAS BEEN ADVISED OF THE POSSIBILITY OF SUCH DAMAGES.